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D — -~

Ifx = -(—lLi) th 6 A 1 i
(A) vz * TS X 1 e ' 2Tﬁ{x=¥,?I’rx‘hrx"'+x2+1=
. 2

©) (11 - (B) (1+1) (A) (1-1) (B) (1 +i)

2. A e ®o (€1 () 0
SOkE:}?\ 'S running at a uniform speed of 2. ud ) 60 fH AL /Hver 9 U W AT
1 f. It passes a railway platform in W T V& B | g 15 UHE H TP Yo ATHT
! seconds. If the length of the platform is B IR wA B AR wewmE @ SHars
(A)Om' then the length of train is - 130 WX &, A1 o 9 wals & —
o 160 m (B) 120 m (A) 160 #Hiex (B) 120 Arex

3 0 (P) 250 m (C) 140 Hex (D) 250 Hrew

" In the diagram, O is the centre of circle, ps is 3. NG #, 0 I BT Bg ¥ PS, S W A P W
t':‘e tangent of the circle at S and Z0SQ= 50°,. WT % aﬂq £05Q=50°, ZSPR SITd q-?[ﬁﬂ'q —
Find ZSPR —
S
S
o 50° ,
R e P

(A) 10° (B) 20° b (A) 10° (B) 20°
(C) 50° (D) 40° (C) 50° (D) 40°

4. ‘A’ lent T 5000 to ‘B’ for 2 years and ¥ 3000 to 4 A7 B @ 500 2 af B fw 2R 30002
‘C’ for 4 years on simple interest at the same C &I 4 99 & foY GuRY AT IR TAF T
rate of interest and received ¥ 2200 in all from W W SR T &R o7 F1 9 g e
both of them as interest. The rate of interest 22003 &I & W9 § W fo ad amw
per annum is - PwRE - @@Ly Exom son s
(A) 5% (B) 7% (A) 5% (B) 7%
(C) 710 (D) 10% (C) 71q (D) 10%

8 8

5. When (x* — 3x3® + 2x2 — 5x + 7) is divided by 5. T (x* -3+ 2¢-5x+7) BT (x-2) ¥ ol
(x-2), then the remainder is - fHaT ST &, 1 Q9% BT & —
(A) 0 (B) -3 (A) o (B) -3
(C) 2 (D) 3 (C) 2 (D) 3

6. The average age of 8 students is 11 years. If 2 6- & BTl BT T MY 11 99 F| AT 153 17
more students of age 15 and 17 years join, then 9§ @ I B 2 MR femlt wfwfea = @
their average will become - ST AAT BT —
(A) 13 years (B) 12 years (A) 1399 (B) 1298
(C) 14 years (D) 15 years (C) 1499 (D) 15 9%

7. 10 men can complete a piece of work in 15 days 7. 10739 UF BRI Bl 15 f&E7 7 @@ ax TP
and 15 women can complete the same work in 3R 15 Az S o @7 12 fe=t # ‘T\l’]’ GO
12 days. If all 10 men and 15 women work Fodl &1 afe Wil 10 799 &R 15 ARkl @
together, in how many days will the work be T B B, O Bt e A H e
completed? i (A) g2 fosy (B) glfag
(A) g2 days (E) 8=days 3 i

3 3 €) 72feg (D) 6= f&7
© 7% days (D) 6 days 3 3
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&) 1035
©) 534

it T UG 6760 8 MR TTHT HewH
m(wc.a)m%l@ﬁmﬁmmm

8 (B) 3

Eg;i (D) Bael Th

aﬁwﬁﬂﬂﬁﬂﬁmﬁwﬁeﬁ?
F SUD GahHT B T F AN & @

ot et 18228 | et FT & —

() B) 22

A (D) {1
(C) = 5
(é)x(é;)ﬂ # SF ¥ D WH R DF A
ez & Aee?
(A) 21 (B) 63
(C) 3969 (D) 147

oy ¥, A CDI|EF||AB, T x PT A S
Pfory —

(B) 90°

(A) 70°
(C) 110° (D) 120°

_QSZ?A,BGﬁ?CﬁHﬁWﬁ%,ﬁI‘%AW%W,
B 3N C% Rl & AN BT > A1 § AR B W@

R, A ok ¢ Redi s amar 2 ai &l c
] fRwd /R T — .

(8) 1053 E
€ 57%

(B) 90%
(D) 45%

- AP P § 200 B A @ qRW B

240 ¥ ¥ 6 fpam. afde A TR H HEH
TR ¥ | S gy Ry Rea. T v
(A) 10T wfy fpym. (B) 8T uf &
(©) 635fy fszy, (D) sTARY

APQR#Y T STl ps 3R RT, G T FHBIT

W SRede med ¥ af ps = o WAL AR
RT =69, & Y Rs ! <ldTs & —
(B) 6 9HL.

(D) 3.

8. The pr(?dUCt of two numbers is 6760 anq their 8.
H.C.F. is 13. How many such" pairs .can be
formed?

(A) 2 (B) 3
) 4 (D) Only one

9. |f we multiply a fraction by itself and divide the 9,
product by the square of its reciprocal, the
fraction thus obtained is 182—:. The original
fraction is -

(AL (B) 2
27 3
©) 11 (D) 11
3 2
10. Which number should replace both the ‘*’ 10.
in(5) % (&) =12
(A) 21 (B) 63
(C) 3969 (D) 147
11. Inthefigure, if CD| |EF||AB, then find thevalue ~ 11.
of x— '
A B
E I F
140° 2Y
XO
C D
(A) 70° (B) 90°
(C) 110° (P) 120°
12. 2557 is divided among A, B and C such that 12
share of A is equal to %th of sum of shares of B
and C and share of B is equal to g of sum of
shares of A and C. Share of Cis equal to - ££3
(A) X 105 (B) X 90
(C) 57 (D) T 45 % r
13. Areduction of 20% in the price of sugar enables 13
a housewife to purchase 6 kg more sugar for
2240, What is the original price per kg of
sugar? |
(A) T10 per kg (B) X 8 per kg
(C) T6perkg (D) X5 per kg ”
14. Two medians PS and RT of APQRintersect at G '
~ atright angles. If PS = 9cm and RT =6 cm, then
the length of RS is - S
(A)10em (B) 6 cm
o @M@m \g’f‘\:}:mi(n) 3cm .
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15. A trader marks up his goods by 80% andogives 15.
discount of 25%. Besides it he WEIghS_l‘M’ less
amount while selling his goods. What is the net
profit of trader?

(A) 50% (B) 35%
(C) 45% (D) 55%

16. “RADAR” stands for - ‘__16-
(A) Radio Detection and Ranging e\
(B) Ready Advanced Appliance for Ranging E‘:]
(C) Range Detection Appliance for Airplane o

Ranging : >
(D) Ready Advanced Airplane Ranging “‘CD

17. Match Column-I (Scientist) with Column-Ii i‘:'_?"-
(Discovery) and select the correct answer using
the code given below the columns — -

Column-| Column-Il N
(a) Goldstein (i) Atomic theory [
(b) Chadwick (ii) Proton &
() J.J. Thompson (iii) Neutron -
(d) John Dalton  (iv) Electron i 5
Code = - m
(A} (a)-(ii), (b)-(ii), (c)-(iv), (d)-(i) - T
(B) (a)-(ii), (b)-(iv), (c)-{iii), (d)-(i)
(©) (a)-(i), (b)-(iv), (c)-{iii), (d)-(ii) &"
(D) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii) r(:l

18. Which one of the following is the best example =< 18-
of desiccant? \_\74( :_..
(A) Silica gel (B) Polystyrene g%
(C) Sodium chloride (D) Sodium carbonate

19. statement | — Kerosene oil and molten wax ‘__19'

gets vapourised during burning ¢\l
and forms flames. [~
—The subst hi o O
statement Il — The substances which vapouyrise <
during burning give flames_ =
Code - ‘5
(A) Both the statements | and Il are individuyally €7
true and statement Il is the correct -«
explanation of statement |
(B) Both the statements are individually ¢yye
but statement Il is not the Correct
~ explanation of statement | _
(C) statement | is true, but statement | is 8o
(D) statement s false, but statement s trye
130A @  Page40f 16

TTeTeT fRrere i A9e hit ps.//t.me/SudhirParihar o

Uh AR 9 Al TR 80% NS BT aigey
HAT & SR 25% BT GS <A €1 THD ey
3G HIel ded A T8 10% TS B oy §
TN BT g A AT 57

(A) 50% (B) 35%

(C) 45% (D) 55%

“RADAR” BT Q0f %0 & —

(A) far feeaer Ts T

(B) XSt TSdivS TR BRI

(C) ¥ e T R YORw IR
(D) S TeaRRS TAT AT

Piera—| @=®) B Blad—ll (o)) |
gufera Iy ok fem & g QT 17 g

B TN TR Fel SR g —
Tl Picr—II

(a) MeewE (i) wxA Rrgia

(b) ATSfa® (ii) et

(c) SIS, oifFaa  (iii) =ggid

(d) SifT STee (i) geaR

'ﬁ —

(A) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(B) (a)-(ii), (b)-(iv), (c)-(iii), (d)-(i)

(C) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

(D) (a)-(i), (b)-{iii), (c)-(iv), (d)-(ii)

frafafad § ¥ N A TagHd BT qa™

3BT SETETIT &7

(A) ffereT Sier GRIGIARE!

(€) Qe garizs (D) [ifsa wEe

oA | - ) &1 aa iR fger 99 So &
T qifyd BIe] Sarer &1 i
P B |

o 11— Teef o STer @ \Hd T B §
SqTeAT T B |

5‘\3 —

(A) SR} & B @ftea: T § MR B I,

BT | T GE TEIBRYT 8
(B) ST & o afted: ¥ ¢, g DA I,
SO | P el WIS TEl ©
(C) or | ey 2, fg B Il I ©
(D) o | arrea &, fbeg BT Il 9 B
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21.

22.

23.

24,

25.

26.

27.

28.
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From which part of turmeric, is the turmeric
powder obtained?

(A) Dried rhizome (B) Dried root

(C) Direct fruit (D) Seed

There are two elements calcium (atomic noz,,

20) and argon (atomic no. 18) both elementg..
have same mass number 40. These elementss\'
.,

are called -

(A) isoneutronic (B) isochloric

(C) isobars (D) isotopes

Pungency in chillies is due to the presence

of -

(A) Lycopene (B) Capsaicin

(C) carotene (D) Anthocyanin

Pyrheliometer is used for measuring -

(A) sun spots (B) solar irradiance

(C) air temperature (D) temperature o
plants

Which of the following is a vestigial organ in°
human body?

(A) Wisdom teeth (B) Spleen

(C) Thyroid (D) Gall Bladder

Fibre optic cable used in communication, work
on the principle of -

4

13011

13071142721

1142721

(A) regular reflection of light

(B) diffuse reflection of light

(C) refraction of light

(D) total internal reflection of light

3

21

Higher cetane number but lower octang~
number fuel is ideal for which of the followin

engines?

(A) Petrol engine (B) Diesel engine
(C) steam engine (D) Heat engine
S| Unit of momentum is -

(A) kgms? (B) kgm?s2

(C) kgms™ (D) kgm3

Addition of ethylene dibromide to petro] -

1301142

(A) increases the octane number of fuel

(B) helps elimination of lead oxide

(C) removes the sulphur compound in petrol
(D) serves as a substitute of tetraethyl lead

g‘j’ 1? =Y la) Minte =) -~
NOU QWS G gl

By @ASHEAT

20.

21,

22,

23.

24,

25.

26.

27.

28.
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el & fpE AN ¥ EERl USSR W fpy

7T 87
(A)q:[@gzﬁ"q’@ (B) @ s &

(qRAT] ¥REAT 20) 3R ST (
m)aﬁaa%,ﬁﬂaﬁﬁwg
40 2| g7 d<dl DI DB ST & —

(A) mﬁﬂgﬁﬁ?ﬁ (B) g%
(C) SEIER (D) srgiery

forf 3 e fhel SuRAf & HRor g

27
(A) AR . (B) doateiE
(D) et

(C) BRACH
T TINT

qreRforIey

qoe & forw forar S B
®) g @ g (B) Wk fafheor

(C) gar &1 arId (D) 9l &1 AT
=g & | 19 A9 INR ¥ Ua 3rgengy

smEe

(A) 31t <TS (B) wiraT

(C) uTsRizS (D) fo=rer

WIR T BF dlell BIgaR Siified el

fas Rigid w® o e &7

() yrpreT F1 FRIAT WRTad

(B) gep1er 1 faaRe wradH

(C) gb131 BT Syade

(D) ybrer @1 gof arigRes qrradH

ST XIS | oifhe e aifqes e aren

o et o 9 fbwt g9 @ farg amaet 27

(A) Urer o

©) %7 (i) gom

AT BIS| A3 & —

(B) kgmst (B) kgm?s?

© kgms2 (B) kgm3

ST ¥ YRR SrsmES Ao W —

) S 9 it <iva 75w 2

®) s siteres & frei #f wrmr fred 2

©) %% % ¥ wowv D ger 2

©) P de 3 e @ we @
DT B

\

(B) Srorer 3T
(D) g (&™) S5
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30.

31.

32.

33.

34.
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29. I 3 g o -

nsare-

Some of the properties of emulsio hus exhibit

(I) Emulsions scatter light and t
Tyndall effect.
; han the
(1) Oily emulsions are more Viscous t
aqueous emulsions. ‘
Select the correct option -

(A) Only (1) (B) Only (Il) _
(C) Both () and (1) (D) Neither (I) nor (I1) s
correct

In a stress-strain curve, elastic limit is the

point - _

(A) up to which stress is proportional to strain,

(B) at which elongation takes place without
application of additional load.

(C) up to which if the load is removed, original
volume & shapes are regained. :

(D) at which toughness is maximum.

Who has been appointed as the acting Chief

Justice of Rajasthan High Court in August 20227

(A) Justice Shinde Sambhaiji Shivaji

(B) Justice Manindra Mohan Shrivastava
(C) Justice Ujjal Bhuyan
(D) Justice Amjad Ahtesham Sayed

Under the amendment in the Senior Cifizen

Pilgrimage Scheme, 2022 by the Government
of Rajasthan, the age of the senior citizen

should be read as ............... instead of 65 for

taking ‘helper’ along. , p s

(A) 70 (B) 60

(C) 65 (D) 67 o

In July 2022, Rajasthan Government hag; ‘s‘irgned

MoU with 11 companies of which olintry,

which will invest Rs 1338 crore?

(A) America (B) France

(C) North Korea (D) Japan Ay

‘Mukhyamantri Bal Gopal Yojana'js rehté’a

(A) Make children of class 1 tog awar to -
importance of cow e’ ~°f the

(B) Encourage cow rearers }

(C) Providing milk to children from oo ‘v ]
two days a week flto; 8,

(D) Promotion of youth in dairy indust’r;,w' :

30.

31.

32,

33.

34.

(I)Wwwﬁvﬁaﬂﬁ%aﬁq
( F%zaumw@hmﬁ% ik
) IR, STl U &) oy

v (Rrofen) ey % o i
WEl SR BT g aforg —
(A)?Ba?f(l) (B)W(”)

@ ek @7 )8 (1
el 2
TPt a5 % e Wi aE fg g

(A)mﬁwmﬁ?ﬁﬁ%mﬁﬁsﬁm%,
(B)gﬁwﬁmmmaﬁrﬁﬁqﬁgm
|
(©) 9Ef 7% 3R AR gerr 9, @ g o
AR BN Y UI Brer 2|
(D) STl BaRaT siferpem &1t 8

TR 2022 # NSRYM I= WG @
;‘WR" T& I 6% Frgad fsar
(A) =mefa Ric ol Rar)

(B) rfd wfoes Higw saraq

(©) IEf SSore g

(D) <t sreTe wedeH Wi

XIS WNER gRI NS 9rRe Siefamr
RINE 2022 % GIARH & dEd aRS TERe
R ME®' o M $ o S 65 @ g

................... 9T ST =R |
A 70 (B) 60 i
©) 65 (D) 67

AT 2022 ¥ ORI TRPR 3 o 37 A
11994t & ey wHaly, W EER 5 €
FSTer 1338 gre wuw @7 Frer BT

(A) sFRepr (B) whi¥
(©) ST wifRa (D) S = .
AR qre7 MuTer AoFT BT ey B

(A) T wgelhy © 8 7 @ el B TE D
e & R # 9ar T

(B) g yrerei @1 iedTEd S ,

(©) ey qeety < g4t aF B Fed @ T A

Y @iA.S-E‘ur‘x—E.L y—/——/

D-\',.._ ~ _f an

Scanned with CamScanner



AT {9187eh 9ol ==t https://t.me/SudhirParihar

35. |n June 2022, Chief Minister Ashok Gehlot has

36.

37.

38.

39,

* For how long has th

approved the proposal to name each

government school on the name of freedom
fighters of which districts?

(A) Jaipur and Jodhpur

(B) Jodhpur and Dungarpur
(C) Bundi and Tonk

(D) Jaipur and Jaisalmer

Rajasthan’s rank in the process of uploading
the programs organized under the Azadi Ka

Amrit Mahotsav in March 2022 on the portal of
the Ministry of Culture -

(A) seventh (B) fourth
(C) third (D) fifth

In May 2022, Chief Minister Ashok Gehlot has

_approved the REVP policy. The meaning of ‘E’

in REVP is -

(A) Emission (B) Employment .

(C) Electric (D) Empowerment

Recently at which place of Rajasthan under the
Gobar-Dhan scheme of the Government of
India, HPCL has launched its Cow Dung to

Compressed Biogas Project?

(A) Sanchore, Jalore  (B) Hindoli, Bundi

(C) Khempura, (D) Mathania, Jodhpur
Udaipur

RTI Portal 2.0 has been Iaunche'd by which

Commission? :

(A) State Women and Child Development
Commission . :

(B) Rajasthan Public service Commission

(C) Rajasthan State Human Rights Commission

(D) State Information Commission

o Rajasthan government

extended the tenuré of the Chief Minister
Rajasthan Economic TranSfO"mE"‘ifl_n Advisory

Council?
(A) November 2022

QLCOEE NS

ASsUJAAL /

(B) December 2023
(D) June 2023

35.

36.

37.

38.

39.

40.

o 2022 ¥, TS SRS TEA J Ry et
& 1-1 T fIEeT B THERY Sy
IR & TH R B D UKIE B AAE
forar 87

(A) IR T SETGR
(B)W;Wg P oten
© g d
(D)%HQW@A?MJM%

HE 2022 ¥, JASET &1 37 Helcdd & ded
R TS PR B HHS H XICA $T I

T =
(A) STcra (B) e
(C) TR (D) 9@t

@zozzﬁ,g@ﬁmﬁ'cﬁﬂgﬁhﬁ%mw%
@7 FAoRI < &1 © | REVP ¥ E &7 aref 8 —

(A) Tfes (B) TwifgHe
(C) saifdcs (D) YuraRHe

BIel 81 # Yo & {6 @M R YR @R

DI MR-y AT @ ded EddTa =

Ta;?\éﬁ Hfea s gRaT @ gReTa
Y

(A) |EIR, SR (B) faueretl, g1

() Wq=T, TETgR (D) Hernfra, SegR
IARELE. Odd 2.0 e AN ERT @A
o gy 87

) 37 Ao vd arer R SR

(B) 3rSteert ey ar s

(©) 1ot < AFERBR ST

) 3157 g e

YSRIH wReRr ¥ geaeadl o anfie

® R wgr Ry 87

A) TFeax 2022 (B) fazfar 2023
©) Rrsar 2023 (D) S 2023
\\
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41.

10 ONEGHEEIUS

R -

42.

43.

45.

47.

- D) M::,"\(i
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Read the statements carefully - ;
|. Advocate General has the right to take Faf
in the proceedings of the Legls ative

Assembly of the State. e
II. He is entitled to vote in the LegislatiVé'

Assembly of the State.

Which of tri‘;following is correct?
(A) Only statement | is correct
(B) Only sta%alment Il is correct
(C) Both statément | and Il are correct
(D) Both st&ment | and Il are incorrect
Who amonﬁhe following was the first leader
of opposition of Rajasthan? &PS: 3
(A) Jaswant Singh (B) Laxman Singh
(C) Parasram*Maderna (D) Ram Narayan

[ Choudhary. -,
Which of @ following is not a function of
Gram Sabha?-
(A) Tribal v&}are
(C) water ;ﬁnning
Chief Minister of Rajasthan who was born on
the International Women's Day -
(A) MohanlatSukhadia (B) Vasundhara i}aje
(C) Jagann3th Pahadia (D) Ashok Gehlot -

Which dist@ has maximum Assembly seats in

i

(B) Rural health
(D) census -

Rajasthan?: ;
(A) Jaipur (B) Alwar 71 ()
(C) Jodhpug=— (D) Udaipur
State of Udaipur was merged with,vRéjégthan
on - gy :

™~ MOl E R
(A) 18" Mdich, 1948 (B) 18" April, 1945
(€) 30" Margh, 1949 (D) 300 April, 1949
For how mgll years was Chawand‘{
of Mahararﬁ%’ratap?
(A)15  ~— (B) 20
(C) 12 (D) 16

he capital

- Nimadi is a sub-dialect of -

(A) Shekhawati
(B) Mewari
(C) Bagadi

(>

7.0

He el @ e ARy -

42,

43.

44.

45.

46.

47.

48.
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|. TETfeaEa B jo7 @Y Rerrer @ SRia
H T o a7 iR 2|
ll.?maﬁﬁwﬁaﬁeéﬁmm

|
71 % 2 Py wd) 27
(R) Haer o | TE B
(B) et By Il TET &
(©) 1 g 1 eF B FEr §
(D) | g 11 SFF HUH Terd &

e 7 4 o ORI 9 yg fue @ Sy
97

(A) STHqd R
(C) URRIRTH HROT

(B) feqo7 e
(D) IMARTIT AR

frferRad & 4 P9I T G491 &1 S T8

87
(A) ST weamor  (B) IO ey
(C) Tt AToIT (D) S=TOTT

Afgel feaq o gom o —

 (A) HigeTeTel gRATfeAT (B) agERT jIT

(C) STt weIfear (D) *Ne el
oI & fobd el § v a1t faemrer
e 8 : .
(A) SRIgT (B) aferaR =
(C)\‘:hug‘g (D) SEAYR

SR oy T AT ¥ e garr o —

(B) 18 a1itel, 1948 BT
(D) 30 378, 1949 BF

(A) 18 #T, 1948 B
(C) 30 Wi, 1949 1

—\;ﬁ? \7_ 5

(A) 15

©) 12

o) Sy—areh & -
(A) Srgredt 9

(B) AT Y

(C) IS Y

() Hrerdy o5y

(B) 20
(D) 16
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49. Which of the following inscription throws light 49, Ry # A B AT AMNTE TRV gy

on the writings of Maharana Kumbha? B g IR UPRT Sleldl =14 — 5%_ ¢T§D[ﬂ
(A) Kirtistambh Prashasti (A) RT T TR a c

(B) Jagannath Rai Prashasti (B) SrT=TTel X1 R %%M , éf

(C) Raj Prashasti (C) w1 IR

(D) Rai Singh Prashasti (D) xrg Riz R aﬂ'z «d ?ﬂ?;{ﬂ%ﬂ?f

50. Which of the following statement/s is/are 50. RpeforRad # & G HUH 2 /&

true? (i) el 3 PR Reod W@ 9k ¥
(i) Remains of animal husbandry have been TgIUTA % LY U 8Y T | =
found from Bagore situated on the bank of (ii) aMES WISl DI GeeT 9N HTd | T | gﬁ
river Luni. (iif) BT #, g q el TR SE o g
(i) Ahad site is related to Neolithic period. g e B ::
(iii) Iru Kalibanga, both the f.ort and the lower () e i) (B) Saet (i) g;g
city have been found with ramparts. ! _ —
(A) only (i (B) only (il © (i) i) - (O) (i) SR i)
(©) (i) and (ii) (D) (i) and (i)
51. Select the wrong pair — 51. w1 g 9w — —
(Cenotaph - Location) : = (o — RI) C?":]
(1) 84 Pillared Cenotaph - Kota M (1) 84 AT BT BN — I o
(2) Brahmin Devta Cenotaph - Mandore (2) STEIVT TaCT B Bl — ATER :f
(3) Mama Bhanja Cenotaph - Jaipur (3) 9T AT DT Bl — —
(4) Kunwar Prithiviraj Cenotaph - Kumbhalgarh (4) BIR YARIST B BAR — HFAATS o
(A) 1and2 - (B) 1and3 A1 3R 2 (B) 1 3% 3 L
(C) 1and 4 (D) Only 1 (C) 1 3R 4 (D) daat 1
2. sudarshangarh fort is another name of which 52. gRITe &7 fpenm Fr=forRaa o 9 fa gt E
~ of the following fort? 3 BT 3 T 27 {C“G
(A) Taragarh fort (B) Jalore fort _ =3
unc AR ST 6 @yl o
(C) Nahargarh fort (D) Jaigarh fort (Jaipur) (©) Tmevrg gt (srargR) (D) wrRmTe g (SRE) %
(Jaipur) =
33 Who is the famous author of ‘Bhartiya Prachin 53. TR yre fefmrer @ ufig o@d 87
Lipimala’? (A) ey ERTERE ol -
(A) Gaurishankar Hiﬁfachand Ojha (B) RTaror syreiyar gmﬂ
(B) Ramkaran Asopa o ©) e
(C) Muni Jin Vijlay W I Rt e -
(D) Vishveshwar Nath Reu () Rreavermrer Yo E
34 In which district of Rajasthan the Shiv temple 54. ﬂ“’?ﬁ‘ﬂ HT Rrg w#fx yoreE @ f5a Rl ¥ 2’2
_ of Charchoma is located? ‘ SRRy 32
% é[ (@) al @ﬁ@}{iusm) Baran g (A) Hrey (B) I
- Purtc (D) Jhalawar ©) 55 (D) ST
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55. The correct chronology of the followmg wars 55. arefarRag T2 T S

i. Fi tbttl f Tarain | TR T W I

i. First battle o o \

ii. Battle of Haldighati Tl i, E‘—?:”a T %@KMEXQM@P\IW (
iii. Battle of Diver iii. Gl

iv. Battle of Giri Sumel iv. ﬁﬁ—ﬁﬁﬂ Calic #Poter

Code -

'q—,_(: —
(A) (i), (), (i), (iv) (B) (i), (iv), (i) (“i) (A) i), (i), (i), (iv B) (i), (iv), (ii), (iii
() (i), (i), (i), () (D) (i), (i), (v), () (€) En),)(l(n;, Enz),((ug ED; 2'.3.>('(Vﬂ)(2'.)v)('2'3
56. Dung Ji-Jawahar Ji were from which district? 56. rof—srarevell fret Rt & o7
(A) Jaipur (B) Jodhpur ' (A) SRIgR (B) SorqR
(C) Sikar (D) Ajmer (C) A (D) 3R

57. When was ‘Meena Kshatriya Sabha’ 57. o &f¥ 9T @ RO Pe @) TS A7
established?

(A) 1924 (B) 1933 (A) 1924 (B) 1933
(C) 1944 (D) 1946 - (C) 1944 (D) 1946
58. |n which year did Rao Bika establish the city of 58. 31q dipT < fhd g TR AR DI AT
Bikaner? DI?
(A) 1459 AD (B) 1488 AD (A) 1459 §. (B) 1488 S.
(C) 1539 AD - (D) 1388 AD (C) 1539%. (D) 1388%.
59. When is the fair of Baneshwar held? 59. JUIgeR T Heil HY FAT B°
(A) Shravan Poornima (B) Vaishakh Poornima (A) rraor gt (B) demea ot
(C) Kartik Poornima (D) Magh Poornima (C) it T (D) #TEr oA
60. TaraSharma is the famous artist OfWhICh ofthe 60 ory w1 9 fb Tou @1 wi¥g FAPR
following dance? 82
(A) Bhawai (B) Terah Taah (A) vaTg (B) TRE el
(C) Kachchhi Ghodi (D) Gair. it 4 (C) = =T (D) R
61. The creation ‘Harakell composed by 61 farexrsT 3 <o Whell' & — s
Vigraharaja is a - Byt (| =,
(A) Drama (B) Nove| i (A) "I (B) SU=ImH
(C) Poetry (D) |nSCTIpt|on (C) 1 (D) arfrer
62. Lal Nath ji was the saint of which of the 62. T <Y Frefeiad § & fre W™ & §a
following sects? oy?
(A) Gudar Sect (B) Naval Séct (A) TG TRIEH (B) gt ORIE™
(C) Jasnathi Sect (D) Vishnoj Sect (C) S ¥we (D) ReAE awe™
63. Bilada is associated with which folk Goggess? 63. RdTeT o7 |9 fr @ @ A 87
(A) Sakrai mata (B) Karni maty (A) a7 |IdT (B) o=l T |
(C) Aai mata (D) Jeen matg (C (D) Sftor 1
64. On whu;h part of body the Khungali Ornament @lﬂw m TE%
is worn?
(A) Waist (B) Hand (A) B (B) =7er ;_, a:el?;(—;’
(C) Nose (D) Neck (©) w1 (D) raT m f‘_{;,»-,,,{ Wl
65. To which painting style did the paln‘cer leardm 65. f i fRad e R 1
and Sahibdin belong? % e lilillli}{l I? o u
(A) Blkaner (B) Jaipur ' “i," < weferd g

(C) Mewar ' T (A) SR (B) ST Tq< q
Uj/ (© J\:‘?.g"\.;ﬂ. ." ,- ,- v

o Page 10 of 16
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67.

68.

69.

70.

.

72,
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pPanna Meena Kund is located at -
(A) U(.:lalpur (B) Nathdwara
(C) Jaipur (D) Jaisalmer
Which of the following lakes i
: _ of Ra

been included in Ramsar Wetland (gj;tl';?\:'has
(A) Jaisamand (B) Ana sagar o
(C) Sambhar (D) Pachpadra
v\!hich_ of the following (Archeological Site -
River) is not correctly matched?
(A) Jod_hpura —Sabi  (B) Qjhiyana - Khari
(C) Kalibanga - (D) Balathal - Kantali

Ghaggar
The temple of which folk deity is located near
the bank of river Luni?

(A) Pabuji (B) Tejaji

(C) Mallinath ji (D) Hadbuji

The 'Ragamala’ is a famous painting of which
style?

(A) Deogarh style (B) Nathdwara style
(C) Chawand style (D) Udaipur style
Who was the editor of ‘Aagibaan’?

(A) Jainarayan Vyas  (B) Hari Bhau
Upadhyaya

(C) Ram Narayan (D) Rishi Dutta Mehta

Chaudhary

Match List-1 with List-Il and select the correct

 answer from the code given below -

13,

District

Tourist Centre
(i) Udaipur

(a) Jaswant Thada .
(b) Lalgarh Palace (ii) Bundi | A
(c) Phool Sagar Palace (iii) Jodhpur .

(d) Jagdish Temple (iv) Bikaner

Code -

(A) (a)-(ii), (b)-{1), (€)-{ii)
(B) (a)-(i), (b)-{ii), (c)-{ii)
(©) (a)-(i), (b)-{iv), (e}l 1T
(D) (a)-(iv), (b)-(ii), (€)-{ii) (d)-(i)

i< released by -
: us report is &=
Rajasthan SDG stat pmics & Statistics

(A) Directorate of Econo .
(B) Department of Administratlve Reforms
Coordination
(C) Directorate 0
Rajasthan
(D) Department ©O

(d)-(iv)
(d)-{iv)
(d)-(i)

f Census operations:

¢ skill gmployment and

66.

.

i Entrepreneurship//ﬁ._—/\_’/
N }_‘ (21 24 Page 11 of 16 i odih

I AT BT ge Rerd € —

(A)mﬁ (B) ATIERT H

(C) R 3 (D) SrRAeR H

. oo &Y PR # @ @ W@ g @
R Secke weer # e fpar a2
(A) SrI<THE (B) 2711 AR

(C) ¥R (D) TErgexT
-Wﬁﬁmwm?w—ﬁ)
@maﬁ%?

(b) AerTe HEw (i) g1

(c) el |IR #gal (i)

(d) STTET WRR (iv) SR
E@d Pt

(B) (a)-(i), (b)-(ii), (c)-(iid), (d)-{iv)
(C) (a)-(iii), (b)-(iv), {c)-(ii), (d)-()
(D) (a)-(iv), (b)-(ii), (c)-(ii), (d)-(0)

.mwmaﬁm@.sﬁ.ﬁméﬁmmwﬁ

P SIRA 27

(A) s 7o wiRead PR

(B) Wi g vd wead
(C) STorT et e, STorel
(P) Frerer, Frarort Td ST T

___.‘
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7A. The duration of Pradhan Mantrl
Sampada Yojana is -
(A) 3 years
(C) 7 years

(B) 5 years
(D) 10 years

utclima
75. Read the following statements about te of

de—
Rajasthan and choose the correct €O

(i) The quantity of rainfall decreases from east

to west and south to north.

(i) The daily and annual range of temperature

remains high due to abundance of sand.

(iii) The maximum daily temperature touches

the mark of 49°C in summer season.
Code -

(A) (i) and (ii) are true

(B) (i) and (iii) are true

(C) (ii) and (iii) are true

(D) (i), (ii) and (iii) are true
76- In context of Bhil's clothing, what is Feta?

(A) Atype of men’s ornament

(B) Atype of head dress (Turban)

(C) A type of clothes of children ~
(D) A Cloak

14

77. Consider the following statements and select
the correct answer using code given below —

(1) Luni basin is also known as G

(2) ‘Girwa’ is a characteristic fea
basin in Mewar region,

(3) Ghaggar plain is located in

odwar region.
ture of Udaipur

e Cthu fiistrict.
(A) 1,2and 3 (B) 1 ana;’m'
(C) 2and 3 (D) 1 and3

- e Mainly ¢ 6]
district of Rajasthan? mly'f(.’.‘-.‘:r,“-di,,in which
(A) Karauli . .
(B) bl i
(C) Alw hOlpur Ve]
&) i 'ar (D) Bhara Ser
= Which IS not Correcﬂy tpur"‘_

(A) Aw - Sikar, Chuyry

. (B) Bshw—Barmer,Jalore .
(C) Bwhw i

Matsya

74,

75,

1;~~..
0\
(!
.: l.
M
-
(>
€D
Q?«-

e

o

- Al B T B T % e 3

ey .

(A) (i) T (i) Wy
(B) (i) rrm (jii) weg &
(©) (i) T (i) vy ¥
(D) (i), (ii) = (iii) oy §

(A) ToHT &1 T THR &1 amqmor

(B) T& YBR o1 RR &7 o (7))

(C) TP TR T qddi BT T |

(D) 3G aTAT HIeT TaeT :

fafafed doml ® R dfvw o w@

IR BT Fg9 49 A a2 4 Fif -

(1) o0 IRE AR WeW & A ¥ A W
ST B |

(2) P g A < AR gl 2
Aqre R A 2 _

(3) TR i e gE Tt § Rerd T

@-

(A) 1,2 3R 3
(C) 2 3k 3

()1 3R 2
(D)1 3R 3

. i oy @ A e b o

(©) Bwhw — i
(D) Cug — el & T
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80. Which breed of cattle is also called the

‘Malani’? -
(A) Kankrej (B) Rathi
_(C) Tharparkar (D) Gir

81. Anandpqr Bhukia and Timaran Mata is famous

~ for-

- A Uranium deposits (B) Lead and Zinc
deposits
(C) Gold deposits

82. Which type of soil is found in Kota, Bund'ﬁ"‘ﬂ

|
o

(D) Asbestos deposits

Jhalawar? d
(A) Red and Yellow soil (B) Desert soil ::E
(C) Red and Black (D) Medium Black soil EE},

mixed soil 2’3

83. Aazam and Jajam Print is the famous handicraft

of which district in Rajasthan?

(A) Udaipur (B) Chittorgarh E:;
(C) Alwar (D) Jaipur Ic:::q

84. Asper 2011 census, which among the following:ff
district in Rajasthan did show the lowest sexc™
ratio in O to 6 years age group?. g%
(A) Jhunjhunu (B) Banswara N
(C) Dungarpur (D) Pratapgarh —
85. Black pottery for vases, plates and pots iﬁ '::‘I

famous in which district of Rajasthan? c»;!
(A) Jaisalmer (B) Alwar | N
(C) Kota (D) Bikaner rae)

o
86. Rajasthan Government has recently launcheds—
Pilot Projects for Leopard conservation. Which
of the following is not included in the Pilog;;

Projects for Leopard? oo

(A) Jaisamand Sanctuary (Udaipur) 2}!

(B) Kumbhalgarh Sanctuary — Raoli Todgartr™
Sanctuary (Stretch of Aravalli HIIIED
extended from Ajmer to Udaipur) 32

(€) Jhalana Amagarh Conservation Reserve

(Jaipur)

Conservation  Reserve

80, wiygyr o el e A o BEarh ¥

81.

82.

83.

84.

85.

86.

- Pane 13 of 16

(A) il (B) =7

() IRATYAR () iR

(A)q?ﬁ—zrqﬁa}rﬁ%‘g’ (B) AT UG O B
AL

©) <ot et 37 (©) vRvew & P

m,@,mﬁﬁw%wmﬁ%?
(A) et Td e (B) FRReRel 4
qal
(C) Tt Ud Il (D) HezH BTetl HaT
fafda a1

ST iR SiTe fiie X @ e forer @
it Eedfded &7 «

(A) SEIGR (B) frciteTTs

(C) 3T’ (D) SragR

2011 @ STFEIVET @ MR, eI &
S fra R dove ay b ang Tt A

foreaw fefmrgara en?

(A) 3T (B) FiwrareT

(C) SRR (D) TS

ORI B e Rret 1 @ e Herarl,
et AR Hewt & forg w87

(A) S¥eiR (B) areTax

(C) rer (D) FrTR

RISTIT R < B @ 3 Ay B A P

MY Wrere sirore g frg §1 feRifed

¥ BN e qrrere ot § e T €7

(A) STz spareva (ST)

(B) Tierrg spauy — el SISTE SRR
(ORI eI @7 Wemg AoPR ¥ SR
TP BTl gar 2)

(© ST ST <iRer Rerd (GRITY)

) FH1 7y ey Rerd ()
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87. Match the following —

88.

89.

91.

ShotoRICHCEIES
& lgxy @,’Jﬁ:‘-u J ,A?:-‘
YSSI30A €
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Project
(a) Sidhmukh Project o
(b) Narmada Project
(c) Jawai Project
(d) Jakham Project
Place
(i) Jalore and Barmer
(i) Pali
(iii) Pratapgarh
(iv) Hanumangarh — Churu
(A) (a)-iii, (b)-iv, (c)-, (d)-ii
(B) (a)-ii, (b)-iv, (c)-i, (d)-iii
(©) (a)-i, (b)-iv, (c)-iii, (d)-ii
(D) (a)-iv, (b)-i, (c)-ii, (d)-iii ‘
Consider the following statement regarding the
First Mega Food Park of Rajasthan established

in March 2018 and mark correctly —

(i) 1t was inaugurated by Union Minister
‘Harsimrat Kaur Badal for FoOd Processing
Industries. 1 R

(ii) It is known as Smart Mega Food Park.

(iii) 1t is located at Roopangarh, Ajmer.r

(A) i and ii correct (B) Only i cgrrect

(C) i and iiicorrect (D) Only iii correct

Patelya, Lalar, Mumal, Bichhiyo are - v
(A) Ornaments of Rajasthan |

89

(B) Folk songs of Rajasthan
(C) Folk instruments of Rajasthan
(D) Loknatya of Rajasthan

Which battle was called the ‘Marathon of 90.
Mewar’ by Colonel James Tod? B

(A) Battle of Haldighati (B) Battle of -

' Kumbhalgarh

(C) Battle of Diver (D) Battle of Gogunda

The saint who was invited to Fatehpur Sikri by 91,

the Mughal Emperor Akbar - |
(A) Haridas ji (B) Dadu Daya| i
(D) Namdeviji

Paae 14 of 16

88.

87. freferim @1 femd —

RS o1 Biaa #5T]
(a) Frgw gRaremr
(b) T¥iaT IR ?73%@7’@4’731’
(c) STarg gReSTT ‘ dl
(d) STRew g 9%’ AT %‘@‘ =T |
R s |
) s ot gt St 2R A
(ii) Tret 41,
(iff) SIS | ﬁ
(iv) AT — IO

(A) (a)-iii, (b)-iv, (c)-i, (d)-ii

(B) (a)-ii, (b)-iv, (c)-i, (d)-iii

(C) (a)-i, (b)-iv, (c)-iii, (d)-ii

(D) (a)-iv, (b, (c)-ii, (d)-iii

A 2018 H WU ISR & Ugad T TS
e @ ey § fAEfoRad wemi R feR @Y
IR T o1 fafga X —

(i) SHPT ITERA Dud @ TGO IER

A SRRRT R 95 7 fhar ey
(ii) T WIE A G U D A | ST I
gl

(iii) 7 SueTe, SR # Rerd R

(A) i 3R i e (B) Dae i T8l

©) iR iii @& (D) Bae iii |

e, der, o, faftsar € —
(A) TSR ST

(B) Rroteerrt wlemia

(©) JToTeerY WHeRaTEl

(D) STt e

T Sy efe e g B AATS B AR
DBET gq7?

(A) gedrare) 71 38 (B) GRIeRTE BT I

©frargg @ M= # g8
e orpaw o 59 Gd B BogR AHd A
S fopar oar?
(A) gRerg it
(C) <sorg <

(B) 21g, STl Sft
(D) FAFTR St
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92.

93.

04.

95.

96.

97.

98.

99,

100,
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Wwho gave the title of

SR @ waftie — | B "Rt < A S

g & 217 -
(B) 3[peax

(A) STEFR
(C) srgret (D) 3T
W@_'&T & USR 3aRerd B —
(A) SR # (B) 3ot H
(C) grerrars # (D) qizrarST A
SR g X B ATD T3 DY YHATT
foreg o % g37
(A) 2011 (B) 2013
(C) 2015 (D) 2010
. e T 9 SR B 5 W § e
27
(A) gferor—gdf (B) sferor—ufe=it
(C) SeR—ydl (D) STR—YfFeH
Fiar g I ORI B gy @
farre & forg STRerl 27
(A) IToTRT (B) Rapr
(C) ot fag f (D) RedR

T B —

(A) fierarsT (B) "1

(€) e (D) AferaTaR

R & ffaiaa el @ gd @ uf¥ew
T AR LT B A IR By —

(i) SR

(ii) ATt

(iii) 3SR

(iv) HieTqR

PhT —

&) (i), (i), (i), (i)
(©) (iv), i), (i), (i)

(B) (i), iii), (i), (iv)
(D) (iv), (i), (iii), (i)

- QYII9 90T @7 9% wat FR orar &7

(A) Srerqe - (B) EgHIMTTS
(© s (D) TR

SN & iy e arplel W GaEd 8
31 87

(A) o sreprer
©) Brepre

(B) 3¢ 3rdIcd
(D) &It

”Mirza Ra. ”
Jai Singh — 1 of Amer? o 92.
(A) Jahangir (B) Akbar
(C) Shah Jahan (D) Aurangzeb
The plateau of Lasadia is located in - 93
(A) Udaipur (B) Rajsamand )
(C) Jhalawar (D) Banswara
In Whld’! year‘ Jaipur Metro Rail began 94,
commercial services?
(M) 2011 (B) 2013
(C) 2015 (D) 2010
Great Boundary Fault is found in which part of 95
Rajasthan? .
(A) South — Eastern ' (B) South — Western
(C) North —Eastern (D) North — Western
Which Financial Institute is responsible for the 96.
development of handicraft in Rajasthan?
(A) RAJSICO (B) RIlCO '
() RF.C. (D) RIDCOR
Which archaeological place is called ‘The Tata 97.
Nagar of Ancient India’? , .
(A) Tilwara (B) Nagari .
(C) Raidh (D) Naliyasar
Arrange the following districts of Rajasthan in 98
the correct order from East to West —
(i) Jaisalmer
(ii) Pali
(iii) Ajmer
(iv) Dholpur
COde- s .. .
@) (), i), (i), ) (B (O 00 (1 )
A . Urs of Punjab Shah 99
In which city of Rajasthan
. Celebrated? -
(A) Alwar (B) Hanumangarh
(©) Aj (D) Ganganagar
imer d to famine is 100
Th Rajasthan relate 2. :
< e proverb for aj Kaal”' In this what is
- Teejo Kuriyo, Aathwon
Meant by ‘Kuriyo™ . i
(A) F L (B) semi Famine
ull Famine anchkaal
Trikal () PR S .
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